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(6) bkg 20lg = K9
(7) 5kg 568g = KQ
(8) 4q = kg
(9) lkg 208g = kg
(10) 7379 = K9
(6) 80cm = m
(7)  4bem = m
(8) 4m 94cm = m
(9) 10m 92cm = m
(10) 18m = m
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(1) lkg 9899 = 1.989 kg (6) 5kg 20lg = 5.201 kg
(2) lkg 9209 = .92 kg (7) bkg 568g = 5.568 kg
(3) 699 = 0.069 kg (8) hg = 0.004 kg
(4) 4kg 3g = 4,003 kg (9) kg 2089 = [.208 kg
(5) 4kg 1679 = 4.167 kg (10) 7379 = 0.737 kg
RODEIZmBEMATERLEL LD,

(1) Im73cm =  1.73 m (6) 8cm = 0.8 m
(2) 6m 29cm = 6.29 m (7 44em = 0.44 m
(3 34em = 0.3 m (8) 4m 94cm =  4.94 m
4) Tem = 0.07 m (@) 10m 92cm = 10.92 m
(5) Tm 89cm = 7.89 m (10) 18&m = 0.18 m
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